EEEMBR (KPI) 0EHRKR

[(%E]

HI0EELE Dk FEER B1Z| REFEREZE (ROFEER) | REFRKT (ROFEER) | REEREZE (R6FEER)
igE AR B 200 &8 250 #1E 253 #H 250 #1H
WEHER AU F 27 L OB

12 B 12 Bifir 12 Hify 12 Bifir
(P 128 B #EXE) i i i Fi
BIERHIE (YREEEFER 30 % 10 %& 9% 10 %
FRBNEE) [ROFrL 27T —
100 EIZS EIES [
1 omA GE~ETER) % (HIBR) (HIBR) 4 (HIBR)
AFEBRELE © F54.00 £ HERRLE © F394.320 F AEREIE : 4.54 HERRLE © F394.300 F

HIHERE B ZEE L cREDRHE
E

MIFSEHE T35 E
BERARPERE | Y
4280k

ERASBED : F194.25
I

MBEEHE © T2k
BERALSERE : T
4551k

EBAFBTED : F194.200
t

MFEERE © 4.41
PRRAREREIAMERIE © 4.63
ERSFBEE © (RERE)

MREEHE : F94.200 L
BERARFENE : T
455k

ESA LB  Fi94.200
IS

Py I RRILDEN

nEQ 2FR TIFFHR T
y—&x—>v 7] 52
MMt EMEEI=H] 54
[BAFICEET 5.0 50
PROG 3FE# TRFEHZ 3
7
(Y53 —] 4.00
[avET7F>>—] 4.00

PROG2FER THFHR T
[ares>r>—] 3.60

PROG 3F# TR FHR O
7
V77— 380
[aveFr—] 3.80

PROG2EM THFHR T
[avET>yy—|
3.60(3.65)

PROG 3 TTFHZ O
7
V77> —1
3.26(3.77)
[arerry—|
3.44(3.40)
() IF2EBAA R,

PROG2EIR THFHR a7
[aveFri—] 3.60

PROG 3F#& TR FHR 2
7
[V7Z>—] 380
[aveFr—] 3.80

BN 35 % 35 % 28.8 % 35 %
[#%2]
H30EE LR D MEER B = ROEMBE (ROEER) | REERIT (REEER) | REEXEE (REEER)
i & DERFRETS HEK 20 % 20 % 23 % 20 %
(4 ER]
H30EE LR MEER B =] ROEMBE (ROEER) | REERIT (REEER) | REEXEE (REEER)
Hi@T R T > T 1« 7 OEEEK 800 % 300 % 559 % 500 %
i F RIS EE K 7 #EE 8 HEE 7 #EE 8 HEE
EROAZI T 2 AFELTOH 0% EEg7 T EE7
15 SR 00 ST i (FEHL) (FEAHL) (FEHL)

[K

XIRF (3 BIREMIAR

PHZIFERTE L TWAWZ O DIEE]
HI0EEL Dk KEER B1Z| REFEREZE (ROFER) | REFRKT (ROFEER) | REEREZE (R6FEER)

ISR 7AYo b = 55 4 48 % 55 4
BB AN AE T O e E - © <8

Hh il A& R A 28 % 1T O A 5E E2q 50 % 60 % =07 60 %
DEE
SR 1) D R SR 4 = 150 14 120 150 4
W e DR EM I ) B

RS ROFENRII ) HE 7 ~ 20 % 209 % 20 %
DEE
B LR 21 = 170 % 153 % 170 %
TEEWHALE] HE~OF v L

- 15 12 15
‘/rv%ii%;ﬁ(ﬁ(fi%ﬁg;g\%)& _ & & A
5B LN FHEA HEEE N
BHLHEAIL] FEER GEX _ 26 % 24 %, 32 4

A




